

# Stability of Fréchet’s functional equation on certain groupoids

Teerapol Sukhonwimolmal, Paisan Nakmahachalasint\*, Patanee Udomkavanich

Department of Mathematics and Computer Science, Chulalongkorn University, Bangkok 10330 Thailand

\*Corresponding author, e-mail: Paisan.N@chula.ac.th

Received 17 Mar 2016

Accepted 10 Jul 2016

**ABSTRACT:** We obtain a Hyers-Ulam stability result for Fréchet’s functional equation  $\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} f(x) = 0$  for all  $x, y_1, y_2, \dots, y_{n+1} \in G$ , where  $f : G \rightarrow B$  is a mapping from a power-associative,  $m$ th-power-symmetric groupoid with a left identity into a real Banach space, and  $m, n$  are nonnegative integers with  $m > 1$ .

**KEYWORDS:** bounded difference, Hyers-Ulam stability

**MSC2010:** 39B82

## INTRODUCTION

The stability problems for functional equations arose when Ulam proposed the following question<sup>1</sup>. Suppose that a function  $f$  satisfies the Cauchy (additive) functional equation

$$f(x + y) = f(x) + f(y)$$

only approximately. Then does there exist an additive function which approximates  $f$ ? This question has been partially answered by Hyers<sup>2</sup>. Hyers’ statement is as follows. Let  $E$  and  $E'$  be Banach spaces,  $\delta$  be a positive number and  $f : E \rightarrow E'$  satisfying

$$\|f(x + y) - f(x) - f(y)\| < \delta$$

for all  $x, y \in E$ . Then the limit  $l(x) = \lim_{n \rightarrow \infty} f(2^n x)/2^n$  exists for each  $x \in E$ . Furthermore,  $l$  is a unique additive function satisfying  $\|f(x) - l(x)\| \leq \delta$  for all  $x \in E$ . Thus any result on functions which satisfies a functional equation ‘only approximately’ (with bounded errors) will be referred to as a Hyers-Ulam stability result of the respective functional equation. When such a function can always be approximated with an actual solution of the functional equation, we say that the functional equation is stable<sup>3</sup>. Stability of functional equations related to Cauchy functional equation have been widely studied. The *monomial functional equation*

$$\Delta_{y, y, \dots, y}^n f(x) - n!f(y) = 0 \tag{1}$$

for all  $x, y \in E$ , and Fréchet’s functional equation

$$\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} f(x) = 0 \tag{2}$$

for all  $x, y_1, y_2, \dots, y_{n+1} \in E$  and their stability problems have been studied by various authors<sup>4–6</sup>. One of the most general Hyers-Ulam stability results for (1) is the work of Gilányi<sup>7</sup>. His statement is as follows. Let  $n \geq 1$  and  $m \geq 2$  be integers,  $G$  be a power-associative,  $m$ th-power-symmetric groupoid,  $B$  be a Banach space, and  $f : G \rightarrow B$  be a function. If there exists a nonnegative real number  $\epsilon$  for which

$$\|\Delta_{y, y, \dots, y}^n f(x) - n!f(y)\| \leq \epsilon$$

for all  $x, y \in G$ , then there exists a unique function  $g : S \rightarrow B$  such that  $\Delta_{y, y, \dots, y}^n g(x) - n!g(y) = 0$  for all  $x, y \in G$  and

$$\|f(x) - g(x)\| \leq \frac{1}{n!} \epsilon$$

for all  $x \in G$ .

It is not hard to see that (1) implies  $\Delta_{y, y, \dots, y}^{n+1} f(x) = 0$  for all  $x, y \in E$ , which is equivalent to (2) in many cases<sup>4, 8, 9</sup>. Hence we are inspired to study the stability of Fréchet’s functional equation for the case when the domain of  $f$  is a power-associative, power-symmetric groupoid.

## BACKGROUND

### Difference operator

Let  $\mathbb{N}$  be the set of positive integers,  $B$  be a real Banach space, and  $(G, \circ)$  be a groupoid. We use the notation

$$x_1 \circ x_2 \circ \dots \circ x_n = (\dots((x_1 \circ x_2) \circ x_3) \circ \dots) \circ x_n,$$

that is,  $\circ$  is a left-to-right operation. The powers of  $x \in G$  are then defined by

$$x^k = \underbrace{x \circ x \circ \dots \circ x}_{k \text{ terms}}$$

For each  $f : G \rightarrow B$ , the difference operator  $\Delta$  and its iterates are defined by  $\Delta_y f(x) = f(x \circ y) - f(x)$  and

$$\Delta_{y_1, y_2, \dots, y_{k+1}}^{k+1} f(x) = \Delta_{y_1}(\Delta_{y_2, \dots, y_k}^k f)(x)$$

for all  $k \in \mathbb{N}$  and  $x, y, y_1, y_2, \dots, y_k \in G$ , and  $\Delta^1 = \Delta$ . It can be shown that

$$\Delta_{y_1, y_2, \dots, y_k}^k f(x) = \sum_{i_1, i_2, \dots, i_k \in \{0,1\}} [(-1)^{k-i_1-i_2-\dots-i_k} \cdot f(x \circ y_1^{i_1} \circ y_2^{i_2} \circ \dots \circ y_k^{i_k})]$$

when  $x \circ y^0 := x$  for all  $x, y \in G$ .

For brevity, we denote  $s_k = k - i_1 - i_2 - \dots - i_k$ , and

$$\begin{aligned} \mathcal{S}_k F(i_1, i_2, \dots, i_k) \\ := \sum_{i_1, i_2, \dots, i_k \in \{0,1\}} (-1)^{s_k} F(i_1, i_2, \dots, i_k) \end{aligned}$$

for each  $k \in \mathbb{N}$ . Hence

$$\Delta_{y_1, y_2, \dots, y_k}^k f(x) = \mathcal{S}_k f(x \circ y_1^{i_1} \circ y_2^{i_2} \circ \dots \circ y_k^{i_k}). \quad (3)$$

Also note that

$$\begin{aligned} \Delta_{y_1, y_2, \dots, y_k}^k (f_1 + f_2)(x) \\ = \Delta_{y_1, y_2, \dots, y_k}^k f_1(x) + \Delta_{y_1, y_2, \dots, y_k}^k f_2(x) \end{aligned} \quad (4)$$

for any  $f_1, f_2 : G \rightarrow B$ , where

$$(f_1 + f_2)(x) := f_1(x) + f_2(x).$$

From now on,

$$\begin{aligned} \Delta_{y_1, y_2, \dots, y_k}^k (f_1(x) + f_2(x)) \\ := \Delta_{y_1, y_2, \dots, y_k}^k (f_1 + f_2)(x). \end{aligned}$$

### Fréchet's functional equation on commutative semigroups

To give the solutions of (2) when the domain of  $f$  is a commutative semigroup  $S$ , we introduce the notion of additivity of functions on  $S$ . A function  $A : S \rightarrow B$  is *additive* if  $A(xy) = A(x) + A(y)$  for all  $x, y \in S$ . Note that if  $A$  is additive, then  $A(x^k) = kA(x)$  for all  $k \in \mathbb{N}$  and  $x \in S$ .

For  $n \in \mathbb{N}$ , an *n-additive function* is a function  $A_n : S^n \rightarrow B$  that is additive with respect to each argument (when the other arguments are fixed). The *diagonalization* of  $A_n$  is a function  $A^n : S \rightarrow B$  such that  $A^n(x) = A_n(x, x, \dots, x)$  for all  $x \in S$ . It is not hard to see that

$$A^n(x^k) = k^n A^n(x) \quad (5)$$

for all  $k \in \mathbb{N}$  and  $x \in S$ . Additionally,  $A^n(e) = 0$  when  $S$  has an identity element  $e$ .

Any solution of (2) (when the domain of  $f$  is a semigroup) is called a *generalized polynomial*. They are described by the following theorem.

**Theorem 1 (Theorem C of Ref. 4)** *Let  $S$  be a commutative semigroup. Assume that  $f : S \rightarrow B$  and  $n \in \mathbb{N}$  satisfy  $\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} f(x) = 0$  for all  $x, y_1, y_2, \dots, y_{n+1} \in S$ . Then there exist  $c \in B$  and  $A^1, A^2, \dots, A^n : S \rightarrow B$  such that each  $A^k$  is the diagonalization of a  $k$ -additive function and*

$$f(x) = c + A^1(x) + A^2(x) + \dots + A^n(x)$$

for every  $x \in S$ .

The next theorem gives a stability result for Fréchet's functional equation on commutative semigroups.

**Theorem 2 (Theorem 3 of Ref. 4)** *Let  $S$  be a commutative semigroup. Assume that  $f : S \rightarrow B$ ,  $n \in \mathbb{N}$  and  $\epsilon \in \mathbb{R}^+$  satisfy the inequality  $\|\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} f(x)\| \leq \epsilon$  for all  $x, y_1, y_2, \dots, y_{n+1} \in S$ . Then there exists a generalized polynomial  $P : S \rightarrow B$  given by*

$$P(x) = \sum_{k=1}^n A^k(x),$$

where each  $A^k$  is the diagonalization of a  $k$ -additive function on  $S$ , such that  $\|\Delta_y(f(x) - P(x))\| \leq \epsilon$  for all  $x, y \in G$ .

### Power associativity and power symmetry

Following the definitions used by Gilányi<sup>7</sup>, the groupoid  $(G, \circ)$  is *power associative* if  $x^k \circ x^l = x^{k+l}$  for every  $x \in G$  and for all  $k, l \in \mathbb{N}$ . It is not hard to see that, if  $(G, \circ)$  is power associative, then  $x^{kl} = (x^k)^l$  for all  $x \in G$  and for all  $k, l \in \mathbb{N}$ . For an integer  $m > 1$ ,  $(G, \circ)$  is *mth power symmetric* if  $(x \circ y)^m = x^m \circ y^m$  for all  $x, y \in G$ . It can be shown via induction that if  $(G, \circ)$  is power associative and *mth power symmetric*, it is also *m'sth power symmetric* for all  $s \in \mathbb{N}$ .

**RESULTS**

The following example shows that power associativity and power symmetry of the domain are not sufficient to imply stability of Fréchet’s functional equation.

**Example 1** Consider  $(\mathbb{N}, \circ)$  where

$$(m \circ k) = \begin{cases} m, & m \leq k, \\ m - 1, & m > k. \end{cases}$$

Then  $(\mathbb{N}, \circ)$  is a power associative (since  $m^k = m$  for all  $m, k \in \mathbb{N}$ ),  $k$ th-power symmetric for all  $k > 1$  (since  $(m_1 \circ m_2)^k = m_1 \circ m_2 = m_1^k \circ m_2^k$  for all  $m_1, m_2, k \in \mathbb{N}$ ). Define  $f : \mathbb{N} \rightarrow \mathbb{R}$  by  $f(k) = k/(n+1)2^{n+1}$  for all  $k \in \mathbb{N}$ . Then by (3),

$$\begin{aligned} & (n+1)2^{n+1} \|\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} f(x)\| \\ &= (n+1)2^{n+1} \|\mathcal{S}_{n+1} f(x \circ y_1^{i_1} \circ y_2^{i_2} \circ \dots \circ y_{n+1}^{i_{n+1}})\| \\ &= \|\mathcal{S}_{n+1}(x \circ y_1^{i_1} \circ y_2^{i_2} \circ \dots \circ y_{n+1}^{i_{n+1}})\| \\ &= \|\mathcal{S}_{n+1}x - \mathcal{S}_{n+1}(x - x \circ y_1^{i_1} \circ y_2^{i_2} \circ \dots \circ y_{n+1}^{i_{n+1}})\| \\ &\leq \sum_{i_1, i_2, \dots, i_{n+1} \in \{0,1\}} \|x - x \circ y_1^{i_1} \circ y_2^{i_2} \circ \dots \circ y_{n+1}^{i_{n+1}}\| \\ &\leq \sum_{i_1, i_2, \dots, i_{n+1} \in \{0,1\}} (n+1) = (n+1)2^{n+1} \end{aligned}$$

since  $x - x \circ y_1^{i_1} \circ y_2^{i_2} \circ \dots \circ y_{n+1}^{i_{n+1}} \in \{0, 1, 2, \dots, n+1\}$  for each set of  $i_1, i_2, \dots, i_{n+1}$ . Hence

$$\|\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} f(x)\| \leq 1.$$

This holds for all  $x, y_1, y_2, \dots, y_{n+1} \in \mathbb{N}$ . But if a function  $g : \mathbb{N} \rightarrow \mathbb{R}$  satisfies  $\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} g(x) = 0$  (with respect to operation  $\circ$ ) for all  $x, y_1, y_2, \dots, y_{n+1} \in \mathbb{N}$ , then

$$\begin{aligned} & \Delta_{m, m, \dots, m}^{n+1} g(m+1) \\ &= \mathcal{S}_{n+1} g((m+1) \circ m^{i_1} \circ \dots \circ m^{i_{n+1}}) \\ &= \sum_{i_1, i_2, \dots, i_{n+1} \in \{0,1\}} [(-1)^{s_{n+1}} \\ &\quad \cdot g((m+1) \circ m^{i_1} \circ \dots \circ m^{i_{n+1}})] \\ &= (-1)^{n+1} g(m+1) \\ &\quad + \sum_{(i_1, i_2, \dots, i_{n+1}) \in I^*} (-1)^{n+1-i_1-i_2-\dots-i_{n+1}} g(m) \\ &= (-1)^{n+1} g(m+1) - (-1)^{n+1} g(m) \\ &= (-1)^{n+1} (g(m+1) - g(m)) \end{aligned}$$

for all  $m \in \mathbb{N}$ , where

$$I^* = \{0, 1\}^{n+1} \setminus \underbrace{\{(0, 0, \dots, 0)\}}_{n+1 \text{ terms}}$$

Since  $\Delta_{m, m, \dots, m}^{n+1} g(m+1) = 0$ , we have  $g(m+1) - g(m) = 0$  for all  $m \in \mathbb{N}$ , that is,  $g$  is a constant map. Hence  $\|f(x) - g(x)\|$  is not bounded. This implies that Fréchet’s functional equation is not stable on  $(\mathbb{N}, \circ)$  with any order  $n$ .

**Fréchet’s functional equation on the set of nonnegative integers**

From Theorem 1 and Theorem 2 the following corollaries are obtained.

**Corollary 1** Assume that  $f : \mathbb{N} \cup \{0\} \rightarrow B$  and  $n \in \mathbb{N}$  satisfy

$$\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} f(x) = 0$$

(with respect to addition) for all  $x, y_1, y_2, \dots, y_{n+1} \in \mathbb{N} \cup \{0\}$ . Then there exist  $c, a_1, a_2, \dots, a_n \in B$  such that

$$f(x) = c + xa_1 + x^2a_2 + \dots + x^na_n$$

for every  $x \in \mathbb{N} \cup \{0\}$ .

*Proof:* By Theorem 1, there exists  $P : \mathbb{N} \cup \{0\} \rightarrow B$  given by

$$f(x) = c + A^1(x) + A^2(x) + \dots + A^n(x)$$

where each  $A^k$  is the diagonalization of a  $k$ -additive function. It follows by (5) that

$$f(x) = c + xA^1(1) + x^2A^2(1) + \dots + x^nA^n(1)$$

for every  $x \in \mathbb{N} \cup \{0\}$ . □

**Corollary 2** Let  $n \in \mathbb{N}$ . Assume that  $f : \mathbb{N} \cup \{0\} \rightarrow B$  and  $\epsilon \in \mathbb{R}^+$  satisfy the inequality

$$\|\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} f(x)\| \leq \epsilon$$

with respect to addition for all  $x, y_1, y_2, \dots, y_{n+1} \in \mathbb{N} \cup \{0\}$ . Then there exists a generalized polynomial  $P : \mathbb{N} \cup \{0\} \rightarrow B$  such that

$$P(0) = 0$$

and

$$\|f(x) - f(0) - P(x)\| \leq \epsilon$$

for all  $x \in \mathbb{N} \cup \{0\}$ . Moreover,  $P$  is given by

$$P(x) = \sum_{i=1}^n x^i a_i,$$

for all  $x \in \mathbb{N} \cup \{0\}$ , where  $a_1, a_2, \dots, a_n \in B$ .

*Proof:* The result follows from Theorem 2 with a similar proof to that of Corollary 1. □

**Remark 1** From Corollary 2, we denote  $E(x) = f(x) - P(x) - f(0)$ . Then  $E$  is a bounded function and  $f(x) = f(0) + E(x) + P(x)$ . Since  $E$  is bounded,  $\lim_{k \rightarrow \infty} (f(0) + E(kx))/k = 0$  for all  $x \in \mathbb{N} \cup \{0\}$ . Note that

$$P(x) = \sum_{i=1}^n x^i a_i.$$

Hence  $a_1, a_2, \dots, a_n$  can be found recursively by

$$\begin{aligned} \lim_{k \rightarrow \infty} \frac{1}{k^n} f(k) \\ = \lim_{k \rightarrow \infty} \left( \frac{f(0) + E(k)}{k^n} + \frac{\sum_{i=1}^n k^i a_i}{k^n} \right) = a_n \end{aligned}$$

and

$$\begin{aligned} \lim_{k \rightarrow \infty} \frac{f(k) - \sum_{i=m+1}^n k^i a_i}{k^m} \\ = \lim_{k \rightarrow \infty} \left( \frac{f(0) + E(k)}{k^m} + \frac{\sum_{i=1}^m k^i a_i}{k^m} \right) = a_m \end{aligned}$$

for each  $m \in \{1, 2, \dots, n-1\}$ .

**Stability of Fréchet’s functional equation on groupoids**

The main result shows that, with the existence of a left identity element, we can reduce associativity and commutativity to power associativity and power symmetry, respectively, without affecting the stability of Fréchet’s functional equation. The following lemma will be used repeatedly in the main theorem.

**Lemma 1** Let  $G$  be a power-associative,  $m$ th-power-symmetric (with  $m > 1$ ) groupoid,  $B$  be a Banach space, and  $n$  be a nonnegative integer. Assume that  $\epsilon \in \mathbb{R}^+$  and  $f : G \rightarrow B$  satisfy

$$\|\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} f(x)\| \leq \epsilon$$

for all  $x, y_1, y_2, \dots, y_{n+1} \in G$ . If  $k$  is a positive integer such that the limit

$$L(x) := \lim_{s \rightarrow \infty} \frac{1}{m^{sk}} f(x^{m^s})$$

exists for every  $x \in G$ , then

$$\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} L(x) = 0$$

for all  $x, y_1, y_2, \dots, y_{n+1} \in G$ .

*Proof:* Assume that all the assumptions are met. Observe that

$$\begin{aligned} \left\| \frac{1}{m^{sk}} \mathcal{S}_{n+1} f(x^{m^s} \circ y_1^{m^s i_1} \circ y_2^{m^s i_2} \circ \dots \circ y_{n+1}^{m^s i_{n+1}}) \right\| \\ = \left\| \frac{1}{m^{sk}} \Delta_{y_1^{m^s}, y_2^{m^s}, \dots, y_{n+1}^{m^s}}^{n+1} f(x^{m^s}) \right\| \\ \leq \frac{1}{m^{sk}} \epsilon. \end{aligned}$$

Hence

$$\begin{aligned} \|\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} L(x)\| \\ = \|\mathcal{S}_{n+1} L(x \circ y_1^{i_1} \circ y_2^{i_2} \circ \dots \circ y_{n+1}^{i_{n+1}})\| \\ = \left\| \mathcal{S}_{n+1} \lim_{s \rightarrow \infty} \frac{1}{m^{sk}} f((x \circ y_1^{i_1} \circ y_2^{i_2} \circ \dots \circ y_{n+1}^{i_{n+1}})^{m^s}) \right\| \\ = \left\| \lim_{s \rightarrow \infty} \frac{1}{m^{sk}} \mathcal{S}_{n+1} f((x \circ y_1^{i_1} \circ y_2^{i_2} \circ \dots \circ y_{n+1}^{i_{n+1}})^{m^s}) \right\| \\ \leq \lim_{s \rightarrow \infty} \frac{1}{m^{sk}} \epsilon \\ = 0. \end{aligned}$$

This follows from

$$\begin{aligned} f((x \circ y_1^{i_1} \circ y_2^{i_2} \circ \dots \circ y_{n+1}^{i_{n+1}})^{m^s}) \\ = f(x^{m^s} \circ y_1^{m^s i_1} \circ y_2^{m^s i_2} \circ \dots \circ y_{n+1}^{m^s i_{n+1}}). \end{aligned}$$

□

Now we are ready to establish the main result.

**Theorem 3** Let  $G$  be a power-associative,  $m$ th-power-symmetric (with  $m > 1$ ) groupoid with a left identity  $e$ ,  $B$  be a Banach space, and  $n$  be a nonnegative integer. Assume that  $\epsilon \in \mathbb{R}^+$  and  $f : G \rightarrow B$  satisfy  $\|\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} f(x)\| \leq \epsilon$  for all  $x, y_1, y_2, \dots, y_{n+1} \in G$ . Then there exists a unique function  $P : G \rightarrow B$  such that  $P$  satisfies

$$\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} P(x) = 0 \tag{6}$$

for all  $x, y_1, y_2, \dots, y_{n+1} \in G$ ,  $P(e) = 0$  and  $\|f(x) - P(x)\| \leq \epsilon$  for all  $x \in G$ .

*Proof:* The case where  $n = 0$  is obvious, so assume that  $n > 0$ . For each  $x \in G$ , define  $F_x : \mathbb{N} \cup \{0\} \rightarrow B$  by  $F_x(0) = f(e)$  and  $F_x(s) = f(x^s)$  for each  $s \in \mathbb{N}$ . Since  $G$  is power associative,

$$\begin{aligned} \|\Delta_{t_1, t_2, \dots, t_{n+1}}^{n+1} F_x(s)\| \\ = \|\mathcal{S}_{n+1} F_x(s + i_1 t_1 + i_2 t_2 + \dots + i_{n+1} t_{n+1})\| \\ = \|\mathcal{S}_{n+1} f(x^{s+i_1 t_1+i_2 t_2+\dots+i_{n+1} t_{n+1}})\| \\ = \|\mathcal{S}_{n+1} f(x^s \circ x^{i_1 t_1} \circ \dots \circ x^{i_{n+1} t_{n+1}})\| \\ = \|\Delta_{x^{t_1}, x^{t_2}, \dots, x^{t_{n+1}}}^{n+1} f(x^s)\| \leq \epsilon \end{aligned}$$

and

$$\begin{aligned} & \|\Delta_{t_1, t_2, \dots, t_{n+1}}^{n+1} F_x(0)\| \\ &= \|\mathcal{S}_{n+1} F_x(i_1 t_1 + i_2 t_2 + \dots + i_{n+1} t_{n+1})\| \\ &= \|\mathcal{S}_{n+1} f(e \circ x^{i_1 t_1 + i_2 t_2 + \dots + i_{n+1} t_{n+1}})\| \\ &= \|\mathcal{S}_{n+1} f(e \circ x^{i_1 t_1} \circ x^{i_2 t_2} \circ \dots \circ x^{i_{n+1} t_{n+1}})\| \\ &= \|\Delta_{x^{t_1}, x^{t_2}, \dots, x^{t_{n+1}}}^{n+1} f(e)\| \leq \epsilon \end{aligned}$$

for all  $s, t_1, t_2, \dots, t_{n+1} \in \mathbb{N}$ . By Corollary 2 and Remark 1,  $F_x(s) = E_x(s) + F_x(0) + s a_{x,1} + s^2 a_{x,2} + \dots + s^n a_{x,n}$ , where

$$\left. \begin{aligned} a_{x,n} &= \lim_{k \rightarrow \infty} \frac{1}{k^n} F_x(k) = \lim_{s \rightarrow \infty} \frac{1}{m^{sn}} F_x(m^s), \\ a_{x,n-1} &= \lim_{k \rightarrow \infty} \frac{1}{k^{n-1}} (F_x(k) - k^n a_{x,n}) \\ &= \lim_{s \rightarrow \infty} \frac{1}{m^{s(n-1)}} (F_x(m^s) - (m^s)^n a_{x,n}), \\ &\vdots \\ a_{x,1} &= \lim_{k \rightarrow \infty} \frac{1}{k} \left( F_x(k) - \sum_{i=2}^n k^i a_{x,i} \right) \\ &= \lim_{s \rightarrow \infty} \frac{1}{m^s} \left( F_x(m^s) - \sum_{i=2}^n m^{si} a_{x,i} \right), \end{aligned} \right\} (7)$$

and  $\|E_x(s)\| \leq \epsilon$  for all  $s \in \mathbb{N} \cup \{0\}$ . Note that

$$\begin{aligned} & a_{x^t, n} \\ &= \lim_{s \rightarrow \infty} \frac{1}{m^{sn}} F_{x^t}(m^s) \\ &= \lim_{s \rightarrow \infty} \frac{1}{m^{sn}} f((x^t)^{m^s}) \\ &= \lim_{s \rightarrow \infty} \frac{1}{m^{sn}} f((x^{tm^s})) \\ &= \lim_{s \rightarrow \infty} \frac{1}{m^{sn}} F_x(tm^s) \\ &= \lim_{s \rightarrow \infty} \frac{1}{m^{sn}} \left( E(tm^s) + F_x(0) + \sum_{i=1}^n (tm^s)^i a_{x,i} \right) \\ &= t^n a_{x,n}. \end{aligned}$$

It can be shown in similar way that

$$a_{x^t, k} = t^k a_{x,k} \tag{8}$$

for all  $x \in G$  for all  $t \in \mathbb{N}$  and for all  $k \in \{1, 2, \dots, n\}$ . For each  $k \in \{1, 2, \dots, n\}$ , let  $A^k(x) = a_{x,k}$ . Define  $P : G \rightarrow B$  by  $P(x) = \sum_{i=1}^n A^i(x)$  for all  $x \in G$ . Next we will show that  $P$  satisfies (6) for all  $x, y_1, y_2, \dots, y_{n+1} \in G$ .

From the definition of  $A^n$  and (7),

$$A^n(x) = \lim_{s \rightarrow \infty} \frac{1}{m^{sn}} f(x^{m^s}). \tag{9}$$

By the definition of  $A^k$  and using (7) and (8), it can be shown that

$$A^k(x) = \lim_{s \rightarrow \infty} \frac{1}{m^{sk}} \left( f(x^{m^s}) - \sum_{i=k+1}^n A^i(x^{m^s}) \right) \tag{10}$$

for all  $k \in \{1, 2, \dots, n-1\}$ . From Lemma 1 and (9),  $\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} A^n(x) = 0$  for all  $x, y_1, y_2, \dots, y_{n+1} \in G$ . From (4),

$$\begin{aligned} & \|\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} (f(x) - A^n(x))\| \\ &= \|\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} f(x) - \Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} A^n(x)\| \leq \epsilon \end{aligned}$$

for all  $x, y_1, y_2, \dots, y_{n+1} \in G$ . By (10), applying Lemma 1 recursively results in

$$\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} A^k(x) = 0$$

for all  $x, y_1, y_2, \dots, y_{n+1} \in G$  and for every  $k \in \{1, 2, \dots, n-1\}$ . Hence

$$\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} P(x) = \Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} \sum_{i=1}^n A^i(x) = 0$$

for all  $x, y_1, y_2, \dots, y_{n+1} \in G$ .

Also, for each  $x \in G$

$$\begin{aligned} & \|f(x) - f(e) - P(x)\| \\ &= \left\| \left( f(x) - \sum_{i=1}^n A^i(x) \right) - f(e) \right\| \\ &= \left\| \left( F_x(1) - \sum_{i=1}^n a_{x,i} \right) - f(e) \right\| \\ &= \|(E_x(1) + F_x(0)) - f(e)\| \\ &= \|E_x(1) + f(e) - f(e)\| \\ &= \|E_x(1)\| \leq \epsilon. \end{aligned}$$

By the definitions of  $A^k$  and  $F_e$ , we have  $A^k(e) = 0$  for every  $k \in \{1, 2, \dots, n\}$ . So  $P(e) = 0$ .

For the uniqueness of  $P$ , let  $P^* : G \rightarrow B$  satisfy (6),  $P^*(e) = 0$  and  $\|f(x) - f(e) - P^*(x)\| \leq \epsilon$  for all  $x, y \in G$ . Then we have

$$\|P(x) - P^*(x)\| \leq 2\epsilon$$

for all  $x \in G$ . We also have

$$\Delta_{y_1, y_2, \dots, y_{n+1}}^{n+1} (P(x) - P^*(x)) = 0$$

for all  $x, y_1, y_2, \dots, y_{n+1} \in G$ , since both  $P$  and  $P^*$  satisfy (6).

Now let  $x \in G$ . We will show that  $P(x) - P^*(x) = 0$ . Define  $H : \mathbb{N} \cup \{0\} \rightarrow B$  by

$$H(0) = P(e) - P^*(e) = 0 - 0 = 0,$$

$$H(s) = P(x^s) - P^*(x^s)$$

for every  $s \in \mathbb{N}$ . Since  $P - P^*$  satisfies (6), it can be shown by an argument similar to the beginning of the proof that

$$\Delta_{t_1, t_2, \dots, t_{n+1}}^{n+1} H(s) = 0$$

for all  $s, t_1, t_2, \dots, t_{n+1} \in \mathbb{N} \cup \{0\}$ . By Corollary 1

$$H(s) = c + sb_1 + s^2b_2 + \dots + s^nb_n$$

for all  $s \in \mathbb{N} \cup \{0\}$ , where  $c, b_1, b_2, \dots, b_n \in B$ .

Since  $\|P(x^s) - P^*(x^s)\| \leq 2\epsilon$  for all  $s \in \mathbb{N}$  and  $P(e) - P^*(e) = 0$ , we have  $\|H(s)\| \leq 2\epsilon$  for all  $s \in \mathbb{N} \cup \{0\}$ . Hence  $\|\Delta_t^i H(s)\| \leq 2^{i+1}\epsilon$  for all  $s, t \in \mathbb{N} \cup \{0\}$  and for all  $i \in \{1, 2, \dots, n\}$ . Suppose that  $H$  is not a constant function and there exists the largest  $k \in \{1, 2, \dots, n\}$  such that  $b_k \neq 0$ . It is straightforward to show that  $\Delta_t^k H(0) = k!t^k b_k$  for all  $t \in \mathbb{N} \cup \{0\}$ . So  $\|k!t^k b_k\| \leq 2^{k+1}\epsilon$ , that is,

$$\|b_k\| \leq \frac{2^{k+1}\epsilon}{k!t^k}$$

for all  $t \in \mathbb{N}$ . This implies  $\|b_k\| = 0$ , a contradiction. Hence  $H$  is a constant function. So

$$P(x) - P^*(x) = H(1) = H(0) = P(e) - P^*(e) = 0.$$

□

**Acknowledgements:** The authors would like to show gratitude to the Development and Promotion of Science and Technology Talents Project (DPST) for the full scholarship to one of the authors and support in academic activities.

**REFERENCES**

1. Ulam SM (1960) *A Collection of Mathematical Problems*, Interscience, New York.
2. Hyers DH (1941) On the stability of the linear functional equation. *Proc Natl Acad Sci USA* **27**, 222–4.
3. Jung S-M, Popa D, Rassias MT (2014) On the stability of the linear functional equation in a single variable on complete metric groups. *J Global Optim* **59**, 165–71
4. Albert M, Baker JA (1983) Functions with bounded  $n$ th differences. *Ann Polon Math* **43**, 93–103.
5. Székelyhidi L (1988) Fréchet’s equation and Hyers theorem on noncommutative semigroups. *Ann Polon Math* **48**, 183–9.

6. Eungrasamee T, Udomkavanich P, Nakmahachalasint P (2012) Generalized stability of classical polynomial functional equation of order  $n$ . *Adv Difference Equat* **2012**, 135.
7. Gilányi A (1999) Hyers-Ulam stability of monomial functional equations on a general domain. *Proc Natl Acad Sci USA* **96**, 10588–90.
8. Djoković DŽ (1969) A representation theorem for  $(X_1 - 1)(X_2 - 1) \dots (X_n - 1)$  and its applications. *Ann Polon Math* **22**, 189–98.
9. Czerwik S (2002) *Functional Equations and Inequalities in Several Variables*, World Scientific, Singapore.